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(3) ‘hmamḯ>mmMm ŷJmoc
10) ‘hmamḯ>mVrb O{‘ZrMo àH$ma
11) à‘wI {nHo$ - eoVr
12) ehao  Am{U ZmJarH$aU
13) Am{W©H$ ̂ yJmob - I{ZOo Am{U D$Om© g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z
14) CÚmoJ
15) amOH$s` ̂ yJmob - bmoH$g§»`m, ̂ mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m

10) ‘hmamḯ>mVrb O{‘ZrMo àH$ma
1) doXS>©> b°Q>amBQ>‘Ü ò ‘w»`V… .......... g‘m{dï> Amho:

1) A°ë ẁ{‘Zm, bmoh, ‘±JZrO Am{U Q>m`Q>°{Z`‘ 2) A°ë ẁ{‘Zm, MwZIS>r, ‘±JZrO Am{U bmoh
3) AëH$br, MwZm, ‘°¾o{e`‘ Am{U Q>m`Q>°{Z`‘ 4) A°ë ẁ{‘Zm, bmoh Am{U MwZm

1) Weathered laterite mostly contains :

1) alumina, iron, manganses and titanium 2) alumina, limestone, manganese and iron

3) alkalies, lime, magnesium and titanium 4) alumina, iron and lime

2) ...... O{‘ZrÀ`m {d{dY dmnam§Mm g‘mdoe Amho, OoWo d¥jmÀN>m{XV àOmVr dZm¡fYr {nH$m§gh EH$mM doir qH$dm doioÀ`m
H«$‘mZo dmT>VmV.
1) gm‘m{OH$ dZrH$aU 2) dwS>r dZrH$aU 3) H¥$fr dZrH$aU 4) KZXmQ> dZrH$aU

2) ...... includes a variety of land uses, where woody species are grown in combination with herbaceous

crops, either at the same time or in time sequence.

1) Social forestry 2) Woody forestry 3) Agroforestry 4) Dense forestry

3) ^maVmV EHy$U 20 H¥$fr-n[apñW{VH$s {d^mJ V¶ma Ho$bobo AmhoV. Ë¶mn¡H$s ghm H¥$fr-n[apñWH$s {d^mJ ‘hmamï´>mV
¶oVmV, Va ‘hmamï´>mVrb H$moUË¶m ^mJmMm g‘mdoe 'A°J«mo-BH$mo[aOZ Z§. 19' ‘Ü¶o hmoVmo?
A) H$moH$UmVrb Vm§~S>çm d Om§ä¶m ‘¥XoMm ^mJ
~) M§Ðnya d JS>{Mamobr {OëømVrb Vm§~yg ‘¥XoMm ^mJ
H$) JS>{Mamobr {OëømMm nyd© ^mJ
S>) Ywio, Z§Xþa~ma, OiJmd {Oëho d A‘amdVrMm {OëømMm YmaUr VmbwH$m
n¶m©¶r CÎmao …
1) ’$º$ A 2) A Am{U ~ 3) A, ~ Am{U H$ 4) A, ~, H$ Am{U S>
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3) A total 20 Agro-ecological Divisions have been created in India. Out of them, six Agro-ecological

Divisions are located in Maharashtra, so which part of Maharashtra is included in ‘Agro-eco

Region No. 19’ ?

a) Red and laterite soil part of Konkan

b) Red soil part in Chandrapur and Gadchiroli districts

c) East part of Gadchiroli district

d) Dhule, Nandurbar, Jalgaon districts and Amravati district’s Dharni Taluka

Answer options :

1) Only a 2) a and b 3) a, b and c 4) a, b, c and d

4) ñQ°́n ’y$qQ>JÀ`m {S>PmB©ZgmR>r, Imbrbn¡H$s H$moUVo J¥{hVH$ Ho$bo OmV Zmhr?
1) ‘mVrMm Xm~ aofr`[aË`m ~XbVmo. 2) nÅ>m CÎm‘ àH$mao H$S>H$ Amho.
3) nÅ>m dOZhrZ AgVmo. 4) AmVrb nm`m ‘Ü`dVu ^m[aV Amho.

4) For the design of strap footing, which of the following assumptions is not made ?

1) The soil pressure varies linearly. 2) The strap is perfectly rigid.

3) The strap is weightless. 4) The interior footing is centrally loaded.

5) gpÀN>ÐVm (n%), hdoMo à‘mU  (a
c
%) Am{U Q> o̧$dmar dm ẁ eyÝ`Vm  (na%) ̀ m§À`mVrb g§~§Y ......... Ûmao {Xbobm Amho.

1) n = n 
a
 a 

c
2)  a

 c
 = n n

 a
3) n

a
 = n.ac 4) a

c
 = n-n

a

5) The relationship between porosity (n%), air content (a
c
%) and percentage air voids (na%)is given

by ..........

1) n = n 
a
 a 

c
2) a

 c
 = n n

 a
3) n

a
 = n.ac 4) a

c
 = n-n

a

6) O‘rZ dmnamMo {Z`moOZ ........ da OmñV ^a XoVo.
1) Am¡Úmo{JH$ ì`mdgm{`H$ joÌo 2) {Zdmgr joÌo
3) O§Jb, nrH$ Am{U XbXbrMr O‘rZ 4) nm`m ŷV joÌ

6) Land use planning primarity deals with :

1) Industrial commercial areas 2) Residential areas

3) Forest, crop and swamp land 4) Infrastructural areas

7) O{‘ZrMr Yyn amoIÊ`mgmR>r ^maVmV Imbrbn¡H$s H$moUË`m H¥$fr nÕVtMm dmna Ho$bm OmVmo?
1) nmD$g nS>Uo KwgImoar, ~mînr^dZ Cnm`
2) H«$m°n amoQ>oeZ, g‘moƒ AmÀN>mXZ eoVr Am{U dZrH$aU
3) aZ Am°’$ [aS>ŠeZ, Q|́qMJ, H§$Qy>a ~§qS>J Cnm`
4) H§$Qy>a ~§qS>J, Q>oaoqgJ, ‘w„m ~§qS>J

7) Which of the following agronomic practices in India is being used to prevent land erosion ?

1) Rain fall Infiltration, evapotranspiration measure

2) Crop rotation, contour-cover farming, and afforesation

3) Run off reduction, trenching, contour bunding measures

4) Contour bunding, Terracing, mullah bunding
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8) {h‘mb¶mVyZ dmhmV ¶oUmao Obàdmh nm¶Ï¶mbJVÀ¶m àXoemV XJS>, JmoQ>o, dmiy ¶m§Mo g§M¶Z H$aVmV, Ë¶m‘wio nm¶Ï¶mer
JmimMo n§Io V¶ma hmoVmV Ë¶m§Zm ...... åhUVmV.
1) VamB© 2) ^m~a 3) ^m§Ja 4) ImXa

8) Water flows from the Himalayas deposit pebbles, rocks and sand at the foot hills and forms

alluvial fans which is called

1) Tarai 2) Bhabar 3) Bhangar 4). Khadar

11) à‘wI {nHo$ - eoVr
1) ^maVmV Ydb H«$m§Vrbm gwédmV .............  gmbmnmgyZ H$aÊ¶mV Ambr.

1) 1971 2) 1972 3) 1973 4) 1974
1) White revolution started in India from ...... year.

1) 1971 2) 1972 3) 1973 4) 1974

2) ‘hmamï´>mV {d{dY àH$maMr ’$io {nH${dÊ¶mV ............... {Oëøm§Mm n{hcm H«$‘m§H$ Amho.
1) Ah‘XZJa 2) nwUo  3) gmocmnwa 4) Am¡a§Jm~mX

2) ...... district ranks first in Maharashtra in growing a variety of fruits.

1) Ahamadnagar 2) Pune 3) Solapur 4) Aurangaba

3) OJmVrb n{hbr bmJdS> Ho$bobr {nHo$ AmhoV
1) Jhÿ Am{U Vm§Xyi 2) Jhÿ Am{U ~mbu 3) Jhÿ Am{U ‘H$m 4) Jhÿ Am{U Ádmar

3) The first cultivated crops in the world are

1) Wheat and Rice 2) Wheat and Barley 3) Wheat and Maize 4) Wheat and Sorghum

4) 2020-21 ‘Ü ò ‘hmamï´> amÁ`mV Ë`m§À`m bmJdS>rImbrb joÌmÀ`m CVaË`m H«$‘mZo {nH$m§Mm `mo½` H«$‘ H$m` Agob?
1) gmò m~rZ, H$mnyg, ^mV, Ádmar 2) H$mnyg, gmò m~rZ, ^mV, Ádmar
3) H$mnyg, gmò m~rZ, Ádmar, YmZ 4) ^mV, H$mnyg, gmò m~rZ, Ádmar

4) What would be the correct sequence of crops in the descending order of their area under cultivation

in Maharashtra State in 2020—21 ?

1) Soybean, Cotton, Paddy, Jowar 2) Cotton, Soybean, Paddy, Jowar

3) Cotton, Soybean, Jowar, Paddy 4) Paddy, Cotton, Soybean, Jowar

5) ‘hmamï´>mÀ¶m 2022-23 À¶m Am{W©H$ gd}jUmZwgma, 2021-22 ‘Ü¶o Imbrbn¡H$s H$moUË¶m Vob{~¶m§Mo gdm©{YH$
CËnmXZ Pmbo hmoVo?
1) gmo¶m~rZ 2) Zm¶Oa (H$mir ~waer) {~¶mUo
3) ŵB©‘yJ 4) gy¶©’y$b

5) According to the Economic Survey of Maharashtra 2022-23, which of the following oilseeds had

the highest production in Maharashtra in the year 2021-22?

1) Soyabean 2) Niger seed 3) Groundnut 4) Sunflower
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6) Imbrbn¡H$s H$moUË`m {nH$m‘Ü ò O{‘ZrÀ`m ImbÀ`m WamVrb Amobmdm nH$S>Ê`mMr CnOV JwUdÎmm AgVo Am{U Vo
Amobmdm VUmd (XwîH$mi) ghZerb AgVmV Am{U nmdgmÀ`m dmVmdaUmV Mm§Jbo ~gVmV?
A) V¥UYmÝ ò ~) H$S>YmÝ ò H$) Vob {~`m S>) ’$m`~a {nHo$
n`m©¶r CÎmao :
1) ’$º$ A 2) ’$º$ ~ 3) ~ Am{U S> ’$º$ 4) H$ Am{U S> ’$º$

6) Which of the following crops have an inherent quality to trap the moisture from lower strata of

the soil and they are considerably moisture stress (drought) tolerant and fits well in rainfed

environment ?

a) Cereals b) Pulses c) Oil seeds d) Fibre crops

Answer options :

1) a only 2) b only 3) b and d only 4) c and d only

7) Imcrc XmoZ  {dYmZo {Xcr AmhoV Ë¶mn¡H$s (A) ho à{VnmXZ AgyZ  (R)  ho Ë¶mMo H$maU Amho. {Xcoë¶m n¶m©¶mVyZ ~amo~a
CÎma {ZdS>m.
A) H$mnyg hm dOZ Z KQ>Umam ewÕ H$ƒm ‘mc Amho, {edm¶ hcH$m d {Q>H$mD$ Amho.
R) gwVr H$mnS> CÚmoJmMo ñWm{ZH$sH$aU H$mnyg CËnmXH$ àXoe qH$dm ~mOmanoR> ¶m {R>H$mUr hmoVo.
n¶m©¶r CÎmao …
1) (A)  Am{U (R) XmoÝhr ~amo~a AmhoV Am{U (R)  ho (A) H Mo Iao ñnï>rH$aU Amho
2) (A)  Am{U (R) XmoÝhr ~amo~a AmhoV na§Vw  (R)  ho (A)  Mo Iao ñnï>rH$aU Zmhr.
3) (A) ho ~amo~a Amho nU (R)  ho MyH$ Amho.
4) (A) ho MyH$ Amho nU (R)  ho ~amo~a Amho

7) Given below are two statements one labeled as Assertion (A) and other labeled as Reason (R).

Select correct answer from the options given below.

A) Cotton is not a weight lossing pure raw material, besides is light in weight and durable.

R) The localization of the cotton textile is found either in cotton producing region or near market.

Answer Options :

1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

3) (A) is true but (R) is false

4) (A) is false but (R) is true

8) ~mOar~m~V Imbrbn¡H$s H$moUVo {dYmZ gË` Zmhr?
1) AZoH$ Xoem§‘Ü ò Ë`mMr bmJdS> H$‘r hmoV Amho
2) Ë`m§À`mH$S>o hdm‘mZ ~Xb Am{U AÞgwajobm Vm|S> XoÊ`mMr j‘Vm Amho
3) Ë`m§À`m godZmZo H$H©$amoJ ~am hmoÊ`mg ‘XV hmoVo
4) Vo H$‘r BZnwQ>‘Ü ò dmT>dVm òVmV

8) Which of the following statements regarding millet is not true ?

1) Its cultivation is declining in many countries

2) They have potential to address climate change and food security

3) Their consumption helps in curing cancer

4) They can be grown with fewer inputs
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9) ^maVmVrb H$moUË`m ^mJmV ñWbm§V[aV eoVr Ho$br OmVo?
1) nyd© {h‘mb` joÌ 2) npíM‘ {h‘mb` joÌ
3) ImbÀ`m J§JoMo g‘Vb 4) npíM‘ nR>ma Am{U S>m|Jami àXoe

9) In which part of India shifting cultivation is practiced ?

1) Eastern Himalayan zone 2) Western Himalayan zone

3) Lower gangetic plane 4) Western Plateau and hill region

10) ¶mo½¶ OmoS>çm bmdm.
      H«$m§Vr   d¡{eîQ>ço
A) h[aV H«$m§Vr I) VmJ
~) nrV H«$m§Vr II) H$mnyg
H$) V§Vy H«$m§Vr III) Vob{~¶m
S>) gwdU© V§Vy H«$m§Vr IV) AÞYmÝ¶ nrH$
n¶m©¶r CÎmao …

A ~ H$ S>
1) IV III II I

2) I II III IV

3) II IV III I

4) III I IV II

10) Make the correct pairs.

      Revolution    Features

A) Green Revolution I) Jute

B) Yellow Revolution II) Cotton

C) Fibrous Revolution III) Oilseeds

D) Golden thread revolution IV) Food grain crop

Answer options :

A B C D

1) IV III II I

2) I II III IV

3) II IV III I

4) III I IV II

11) n§Om~À`m eoVH$è`m§Zr H¥$fr-dZHw$aU nÕVr A§VJ©V àmYmÝ` {Xbobr d¥j àOmVr ................ Amho.
1) nm°ß ẁbg 2) AmQ>m}H$mn©g 3) H$mOy 4) Am§~m

11) The tree species preferred by farmers of Punjab under agri-silviculture system is ................

1) Populus 2) Artocarpus 3) Cashew 4) Mango

12) A{^`m§{ÌH$s eoVr Am{U H$ìha H«$m°qnJåÜ¶o ......Mm g‘mdoe hmoVmo.
1) H«$m°n amoQ>oeZ H§$Qy>a ’$m{‘ªJ Am{U H$ìha H«$m°qnJ 2) nmUr KwgImoar, nmUr gmMÊ`mMo Cnm`.
3) H§$Qy>a ~§qS>J, H$m°ÝQy>a Q|́qMJ Am{U Q>oaoqgJ 4) nO©Ý`d¥ï>r ~§X, dZrH$aU
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12) List out the engineering farming and cover croppng

1) Crop rotation contour farming and cover cropping

2) Water infilitarison, water logging measures.

3) Contour bunding, contour trenching, and terracing

4) Rainfall-run off, afforesation

13) J„r H«$m°qnJ Amho:
a) gar(hoOamo) Am§VanrH$ åhUyZhr AmoiIbo OmVo
b) PnmQ>çmZo dmT>Umar, eŠ`Vmo EZ-{’$pŠg§J PmS>o qH$dm PwSw>no amIyZ R>odUo
c) ’$º$ CîUH${Q>~§Yr` àXoemV gamd Ho$bm OmVmo
darbn¡H$s H$moUVo/`mo½` AmhoV?
1) ’$º$ (a) 2) Onl (b) 3) ’$º$ (c) 4) ’$º$ (a) Am{U (b)

13) Alley cropping is:

a) also known as hedgerow intercropping

b) retaining fast-growing, preferably N-fixing trees or shrubs

c) practiced only in tropical regions

Which of the above is/are correct ?

1) Only (a) 2) Only  (b) 3) Only (c) 4) Only (a) and (b)

14) ............ eoVr A§VJ©V, Amobmdm CnbãYVm {nH$m§Zm nwaoer Amho.
1) H$moaS>dmhÿ eoVr 2) H$moaS>dmhÿ eoVr 3) nmdgmda AmYm[aV eoVr 4) AY©-ewîH$ eoVr

14) Under farming, moisture availability is enough to the crops.

1) dryland farming 2) dry farming 3) rainfed farming 4) semi-arid

15) Imbrbn¡H$s H$moUVr {H«$`m H¥$fr ì`dñWoMr nwZa©MZm H$ê$ eH$Vo Am{U hdm‘mZ ~Xbm‘Ü ò AÞ gwajm gw{ZpíMV H$ê$
eH$Vo?
1) ½bmo~b emofH$ àUmbr 2) hdm‘mZ ñ‘mQ>© eoVr
3) IPCC 4) darb gd©

15) Which of the following action can reorient the agricultural system and ensure food security in

climate change ?

1) Global absorbing system 2) Climate smart agriculture

3) IPCC 4) All of the above

16) .......... eoVmV dmnaë`m OmUmè`m nrH$ nÕVr Am{U eoVr g§gmYZo, BVa eoVr CnH«$‘ Am{U Ë`m§Mr aMZm R>adUmao
CnbãY V§ÌkmZ `m§À`mer Ë`m§Mm g§dmX Xe©dVmo.
1) eoVr nÕVr 2) eoVr CÚmoJ 3) {‘l eoVr 4) nrH$ nÕVr

16) ..........represents cropping patterns used on a farm and their interaction with farm resources, other

farm enterprises and available technology which determine their make up.

1) Farming system 2) Farm enterprises 3) Mixed farming 4) Cropping system
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For Private Circulation Only

17) àM{bV H¥$fr-hdm‘mZ Am{U gm‘m{OH$-Am{W©H$ n[apñWVrZwgma àXoe qH$dm n[agamV {d{dY {nHo$ Á`m H«$‘mZo KoVbr
OmVmV Ë`mbm Ago åhUVmV.
1) nrH$ nÕVr 2) nrH$ nÕVr
3) eoVr nÕV 4) emídV eoVr

17) The sequence in which various crops are grown in a region or a locality in accordance with

prevailing agro-climatic and socio-economic conditions is known as

1) Cropping system 2) Cropping pattern

3) Farming system 4) Sustainable agriculture

18) Am§Yir ‘emJV åhUOo O{‘ZrMr ‘emJV
1) nrH$ noaë`mZ§Va qH$dm bmJdS> Ho$ë`mZ§Va; EH$Va nrH$ dZñnVtÀ`m CX`mnyduÀ`m Q>ßß`mda qH$dm Vo dmT>rÀ`m

gwédmVrÀ`m Q>ßß`mV AgVmZm
2) nrH$ noaÊ`mnydu qH$dm bmJdS> H$aÊ`mnydu
3) EH$mM doir nrH$ noaVmZm qH$dm bmJdS> H$aVmZm
4) darbn¡H$s H$mhrhr Zmhr

18) Blind tillage refers to the tillage of the soil

1) After seeding or planting the crop; either at pre-emergence stage of crop plants or while they

are in early stages of growth

2) Before seeding or planting the crop

3) Simultaneously at seeding or planting the crop

4) None of the above

19) ñnog Am{U Q>mB‘ `m XmoÝhr {R>H$mUr hmoUmè`m nyaH$ nañnag§dmXmMm g§X ©̂ XoVo.
1) [abo H«$m°qnJ 2) AZwH«$‘ H«$m°qnJ 3) A°{Z‘oeZ 4) A°{ZS>oeZ

19) ......... refers to complementary interaction which occurs both in space and time.

1) Relay cropping 2) Sequence cropping 3) Annimation 4) Annidation

20) H¥$fr joÌmg‘moarb hdm‘mZ ~XbmMr J§̂ ra AmìhmZo AmhoV
1) g‘wÐ nmVir dmT>Uo 2) XwîH$mi 3) CO, CËgO©Z 4) XmoÝhr (1) Am{U (2)

20) Severe climate change challenges to the Agricultural sector are

1) Rising sea level 2) Droughts 3) CO, emission 4) Both (1) and (2)

21) Pwq‘J bmJdS>r‘Ü ò -
a) O‘rZ {’$adbr OmVo nU nrH$ R>abobo b) dfm©Zwdf} VoM nrH$ KoVbo OmVo
c) Ë`m‘wio ‘mVrMr Yyn hmoVo d) O{‘ZrMr CËnmXH$Vm Zï> hmoVo
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, b, c Am{U d

21) In Jhumming cultivation -

a) Land is rotated but crop is fixed b) Same crop is grown year after year

c) It causes soil erosion d) Soil productivity is lost

Which of the above statement/s is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) a, b, c and d
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22) JwOamV Am{U amOñWmZ amÁ`m§‘Ü ò AmT>iUmar Jwam§Mr OmV Á`mbm gdmB© Mmb Ago åhUVmV:
1) H$m§H$aoO 2) {Ja 3) amR>r 4) WmanmaH$a

22) The cattle breed found in the States of Gujarat and Rajasthan which has a peculiar gait known as

“Sawai Chal” is :

1) Kankrej 2) Gir 3) Rathi 4) Tharparkar

12) ehao  Am{U ZmJarH$aU, dñVr ŷJmob
1) ^maVmVrb H$moUVo eha ^maVr¶ emgZmÀ¶m ñdÀN> H«$‘dmarV gbJ VrZ doim (2019 Vo 2021) ñdÀN> eha åhUyZ

Kmo{fV H$aÊ¶mV Ambo?
1) B§Xmoa 2) nwUo 3) ‘w§~B© 4) gwaV

1) Which city of India has been declared as cleanest city for three consercutive years (2019 to

2021) by Swachh ranking of Government of India ?

1) Indore 20 Pune 3) Mumbai 4) Surat

2) Imcrcn¡H$s H$moUVr OmoS>r ¶mo½¶ Zmhr ?
1) VmoaU‘mi - AñV§̂ m 2) JmdrcJS>-{MIcXam
3) Am§~mocr - Ja‘gwa 4) {Mamocr-JS>{Mamocr

2) Which of the following pair is not correct ?

1) Toranmal-Asthambha 2) Gavilgad-Chikhaldara

3) Amboli-Garamsur 4) Chiroli-Gadchiroli

3) W§S> hdoMr {R>H$mUo d Vo H$moUË¶m {OëømV AmhoV ho Imcr {Xco Amho. Ë¶m§À¶m ¶mo½¶ OmoS>çm cmdm.
   {Oëhm W§S> hdoMo {R>H$mU
A) gmVmam I) Oìhma
~) Z§Xþa~ma II) I§S>mim
H$) nyUo III) ‘hm~ioída
S>) nmcKa IV) VmoaU‘mi
n¶m©¶r CÎmao :

A ~ H$ S>
1) I II III IV

2) III I IV I

3) II I III IV

4) III IV II I

3) Below Hill Station and the districts in which they are located are given. Match the correct pairs.

   District Hill Station

a) Satara I) Jawahar

b) Nandurbar II) Khandala

c) Pune III) Mahabaleswar

d) Palghar IV) Toranmal
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Answer Options :

A B C D

1) I II III IV

2) III I IV I

3) II I III IV

4) III IV II I

4) ‘mWoamZ ho W§S> hdoMo {R>H$mU H$moUË¶m {OëømV pñWV Amho ?
1) R>mUo 2) am¶JS> 3) aËZm{Jar 4) nwUo

4) In which district is Matheran hill station situated?

1) Thane 2) Raigad 3) Ratnagiri 4) Pune

5) àmo. Ama. S>r. H$d} ¶m§Zr 1925 ‘Ü¶o n{hco g§VVr {Z¶‘Z H|$Ð H$moUË¶m ehamV gwé Ho$co ?
1) nwUo 2) ‘w§~B© 3) R>mUo 4) Hw$cm~m

5) In which city did Prof. R. D. Karve start the first family planning centre in 1925?

1) Pune 2) Mumbai 3) Thane 4) Kulaba

6) Imcrc {dYmZm§Mm {dMma H$ê$Z Ë¶mVrc H$moUVo/H$moUVr {dYmZ/Zo ~amo~a Amho/AmhoV Vo g§Ho$Vm§H$m§Mm dmna H$ê$Z
CÎma {chm.
1) H|${ÐV dñVr ~hþYm eoVdmS>çm§Zr doT>cocr AgVo
2) {h‘mc¶rZ àXoemV H|${ÐV dñË¶m AmT>iV ZmhrV.
n¶m©¶r CÎmao …
1)  ’$º$ 1 ~amo~a Amho 2) ’$º$ 2 ~amo~a Amho
3) XmoÝhr 1 Am{U 2 ~amo~a AmhoV 4) 1 hr ~amo~a Zmhr d 2 hr ~amo~a Zmhr

6) Consider the following statements and sclect the correct answer using the code given below.

1) A compact settlement is most probably surrounded by hamlets.

2) Compact settlements are not found in the Himalayan region.

Answer Options :

1) Only 1 is correct 2) Only 2 is correct

3) Both 1 and 2 are correct 4) Neither 1 nor 2 is correct

7) ‘hmamï´>mÀ¶m X»IZ nR>mamda J«m‘rU ^mJm‘Ü¶o Ka ~m§YUrgmR>r ¶m ñWm{ZH$ XJS>mMm dmna Ho$bm OmVmo.
1) Om§̂ m XJS> 2) g§J‘adar XJS> 3) J«°ZmB©Q> XJS> 4) ~ogm°ëQ> XJS>

7) The local rock used to construct houses in rural area on the Deccan Plateau of Maharashtra is

1) Laterite rock 2) Marble rock 3) Granite rock 4) Basalt rock

8) XJS>m§À`m CKS>çm H$S>m§Zm 45° À`m H$moZmV didboë`m Ameba XJS>r ~m§YH$m‘mbm åhUVmV.
1) Amíca ~marH$ {MZmB© 2) Amíca IS>~S>rV CnH$aUo Agbobr {MZmB©
3) Amícma IXmZr ‘wIr XJS>r ~m§YH$m‘ 4) Amícma Mm‘’o$S> Jd§S>r

8) The ashlar masonry in which the exposed edges of stones are bevelled off at an angle of 45° is

called

1) Ashlar fine masonry 2) Ashlar rough tooled masonry

3) Ashlar quarry faced masonry 4) Ashlar chamfered masonry
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9) {g‘|Q> H$m±H«$sQ> ’w$Q>nmW‘Yrb Q>m` ~mg©Mm dmna ................ ‘Ü ò Ho$bm OmVmo.
1) AmHw§$MZ gm§Yo 2) {dñVma gm§Yo
3) ~m§YH$m‘ gm§Yo 4) AZwX¡Ü ©̀ gm§Yo

9) Tie bars in cement concrete pavement are used across  ................

1) Contraction joints 2) Expansion joints

3) Construction joints 4) Longitudinal joints

10) ‘hmamï´>mVrb {dIwaboë¶m dñË¶m§Mr d¡{eîQ>ço Imbr {Xbr AmhoV. ¶mo½¶ d¡{eîQ>ço AmoiIm.
A) KamKam§‘Ü¶o Am§Va {dbJVm AgVo. ~) amhUr‘mZ Cƒ XOm©Mo AgVo.
H$) bmoH$g§»¶m ‘`m©{XV AgVo. S>) dgmhVr àXÿfU ‘wº$ AgVmV.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV Vo AmoiIm.
1) ’$º$ A Am{U ~ 2) ’$º$ H$ Am{U S> 3) ’$º$ A, H$ Am{U S> 4) darb gd©

10) Characteristics of scattered settlements in Maharashtra are given below. Identify the appropriate

features.

A) There is inter-isolation between households.

B) Standard of living is high.

C) Population is finite.

D) Colonies are free from pollution.

Identify which of the above statements are correct.

1) A and B only 2) C and D only 3) A, C and D only 4) All of the above

11) Imcrcn¡H$s H$moUVr {dYmZo J«m‘rU g‘mOmMo d¡{eîQ>ço AmhoV ?
A) XmQ> cmoH$g§»¶m ~) eoVr àYmZ g‘mO
H$) {nV¥gÎmmH$ Hw$Qw>§~ nÕVr S>) e¡j{UH$ ‘mJmgconUm
n¶m©¶r CÎmao :
1) ’$º$ 'A' 2) A, ~ Am{U H$ 3) ~, H$ Am{U S> 4) ’$º$ S>

11) Identify the characteristics of rural community from below sentences.

a) Dense population b) Agriculture main activity of society

c) Paternal family system d) Backwardness in education.

Answer Options :

1) only a 2) a, b and c 3) b, c and d 4) only d

13) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z

I{ZOo Am{U D$Om© g§gmYZo

1) ‘hmamï´>mVrc M§Ðnya {OëømVrc "cmohma S>m|Jar ImU" ........... gmR>r à{gÕ Amho.
1) cmoh I{ZO CËnmXZ 2) ‘°JoZrO CËnmXZ
3) ~m°³gmB©Q> CËnmXZ 4) XJS>r H$moigm CËnmXZ

1) ‘Lohar Dongari mine’ in the Chandrapur district of Maharashtra is famous for

1) Iron ore production 2) Manganese production

3) Bauxite production 4) Coal production
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2) Imcrcn¡H$s ‘hmamï´>mVrc ~m°³gmBQ>Mo gdm©{YH$ CËnmXZ H$aUmao {Oëho H$moUVo ?
1) A‘amdVr, §̂S>mam, Jm|{X¶m 2) ¶dV‘mi, Zm§XoS>, na^Ur
3) M§Ðnya, Jm|{X¶m, ZmJnya 4) H$moëhmnya, aËZm{Jar, am¶JS>

2) Which of the following are the largest Bauxite producing districts in Maharashtra?

1) Amaravati, Bhandara, Gondia 2) Yevatmal, Nanded, Parbhani

3) Chandrapur, Gondia, Nagpur 4) Kolhapur, Ratnagiri, Raigad

3) ‘hmamï´>mVrb nwT>rbn¡H$s H$moUË¶m {OëømVyZ ~m°³gmB©Q>Mo CËnmXZ KoVbo OmV Zmhr?
A) M§Ðnya d JS>{Mamobr ~) H$moëhmnya d gm§Jbr
H$) R>mUo d am¶JS> S>) aËZm{Jar d qgYwXþJ©
n¶m©¶r CÎmao …
1) A ’$º$ 2) ~ ’$º$ 3) ~ d H$ ’$º$ 4) S> ’$º$

3) Which of the following districts in Maharashtra does not produce bauxite ?

a) Chandrapur and Gadchiroli b) Kolhapur and Sangli

c) Thane and Raigad d) Ratnagiri and Sindhudurg

Answer Options :

1) a only 2) b only 3) b and c only 4) d only

4) ‘hmamï´>mVrb I{ZOo d CËnmXH$ {Oëho ¶m§À¶m ¶mo½¶ OmoS>çm bmdm.
      I{ZO CËnmXH$ {Oëhm
A) ‘±JZrO I) Jm|{X¶m
~) bmoh I{ZO II) JS>{Mamobr
H$) ~m°³gmB©Q> III) qgYwXþJ©
S>) S>mobmo‘mB©Q> IV) R>mUo
n¶m©¶r CÎmao …

A ~ H$ S>
1) IV II III I

2) III I IV II

3) III I II IV

4) II III I IV

4) Match the minerals and producing districts of Maharashtra with correct pairs.

Mineral producing       District

a) Manganese I) Gondia

b) Iron Ore II) Gadchiroli

c) Bauxite III) Sindhudurg

d) Dolomite IV) Thane

Answer options :

A B C D

1) IV II III I

2) III I IV II

3) III I II IV

4) II III I IV
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5) ‘mM© 2023 n¶ªVÀ¶m ‘m{hVrZwgma, ‘hmamï´>mÀ¶m ŷ{dkmZ Am{U ImU g§MmbZmb¶mZwgma ‘hmamï´>mV Imbrbn¡H$s
H$moUË¶m I{ZOmMm gmR>m BVa I{ZOm§À¶m VwbZoV gdm©{YH$ Amho?
1) MwZIS>r 2) J«m’$mB©Q> 3) H$moigm 4) ~m°ŠgmB©Q>

5) Which of the following minerals has the biggest reserve in Maharashtra as compared to other

minerals, according to directorate of Geology and Mining, Maharashtra as of March 2023?

1) Limestone 2) Graphite 3) Coal 4) Bauxite

6) ‘hmamï´>mVrc Imcrcn¡H$s H$moUË¶m {Oëøm‘Ü¶o ‘±JZrOÀ¶m ImUr AmT>iVmV ?
A) aËZm{Jar ~) ZmJnya H$) Cñ‘mZm~mX S>) ^§S>mam
n¶m©¶r CÎmao :
1) A Am{U ~ 2) A, ~ Am{U S> 3) H$, S> Am{U A 4) S> Am{U H$

6) Manganese mines are found in which of the following districts of Maharashtra?

A) Ratnagiri. B) Nagpur C) Osmanabad D) Bhandara

Answer options :

1) A and B 2) A, B and D 3) C, D and A 4) D and C

7) npíM‘ amOñWmZmÀ¶m àXoemV MwZIS>H$, {Oßg‘ Am{U I{ZO {‘R>mMo gmR>o {dV[aV Pmcoco AmhoV.
Imcrcn¡H$s H$moUVr H$maUo ¶m I{ZOm§À¶m gmR>çm§À¶m {dVaUmg H$maUr ŷV AmhoV ?
a) n‘m}H$m~m}{Z’o$ag ¶wJmV npíM‘ amOñWmZMm ^mJ g‘wÐmÀ¶m nmÊ¶mImcr hmoË¶m.
b) npíM‘ amOñWmZmÀ¶m àXoemV nO©Ý¶mMo à‘mU H$‘r Amho.
c) npíM‘ amOñWmZmÀ¶m àXoemV hdm‘mZ CîU d H$moaS>o Amho.
d) npíM‘ amOñWmZmÀ¶m àXoemV dZmÀN>mXmZm Imcrc joÌ AË¶ën Amho.
n¶m©¶r CÎmao …
1) ’$º$ a ~amo~a Amho 2) a ’$º$ Am{U b ~amo~a AmhoV
3) a, b Am{U c ~amo~a AmhoV 4) ’$º$ d ~amo~a AmhoV

7) In the western part of Rajasthan minerals like limestone, gypsum and mineral salts reserves are

distributed. Which of the following reasons are responsible for this occurrence ?

a) Western part of Rajasthan was submerged under sea water during permocarboniferous period.

b) Western part of Rajasthan receives low rainfall.

c) Western part of Rajasthan has hot and dry climate.

d) In the western part of Rajasthan the area under vegetation is very low.

Answer Options :

1) only a is correct 2) only a and b are correct

3) a, b and c are correct 4) only d is correct

8) Imcrcn¡H$s H$moUË¶m ‘¥XoV cmoh d ~m°³gmB©Q> I{ZOmMo à‘mU A{YH$ AgVo ?
1) Vm§~S>r ‘¥Xm 2) aoJya ‘¥Xm 3) Om§̂ r ‘¥Xm 4) JmimMr ‘¥Xm

8) Which of the following soil contain the maximum proportion of iron and bauxite minerals ?

1) Red soil 2) Regur soil 3) Laterite soil 4) Alluvial soil

9) dYm© H$moigm joÌ Amho:
1) ~«m°S> qgH$bmBZ ’§$qJJ SSW 2) ~«m°S> A±Q>rŠbmBZ ßb§qJJ  SSE

3) ~«m°S> A±Q>rŠbmBZ ßb§JBZ NNE 4) ~«m°S> A±Q>rŠbmBZ ßb§qJJ NNW
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9) Wardha coal field is a :

1) broad syncline phunging SSW 2) broad anticline plunging SSE

3) broad anticline plungine NNE 4) broad anticline plunging NNW

10) Imbrbn¡H$s H$moUVr {dYmZ/{dYmZo AMyH$ Amho/AmhoV?
a) ~m°³gmB©Q>Mm dmna ‘w»¶V… A°ë¶w{‘{Z¶‘ {Z{‘©VrgmR>r Ho$bm OmVmo.
b) ñnoZ Am{U OnmZ ho ^maVmVyZ ~m°³gmB©Q>Mr gdm©{YH$ Am¶mV H$aUmao Xoe AmhoV.
c) Amo{S>emMm ~m°³gmB©Q>À¶m CËnmXZmV ^maVmV àW‘ H«$‘m§H$ bmJVmo.
d) H$moëhmnya, aËZm{Jar, gmVmam, R>mUo ho ‘hmamï´>mVrb ~m°³gmB©Q> CËnmXZ H$aUmao {Oëho AmhoV.
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) Am{U (c) ’$º$ 3) (a), (c) Am{U (d) 4) darb gd©

10) Which of the following statements is/are correct ?

a) Bauxite is used mainly for the production of aluminium.

b) Spain and Japan are the largest importers of Indian bauxite.

c) Odisha stands first in the production of bauxite in India.

d) Kolhapur, Ratnagiri, Satara, Thane are the bauxite producing districts of Maharashtra.

Answer options :

1) Only (a) 2) Only (b) and (c) 3) (a), (c) and (d) 4) All of the above

dmhVyH$ Am{U n ©̀Q>Z

1) dmhZm§À`m dmhVwH$sgmR>r, XmoZ-boZ nwbmgmR>r añË`mMr {H$‘mZ é§Xr ................ Amho.
1) 425 go‘r 2) 750 go‘r 3) 200 go‘r 4) 300 go‘r

1) For vehicular traffic, minimum roadway width for two-lane bridge is  ................

1) 425 cm 2) 750 cm 3) 200 cm 4) 300 cm

2) 20 dfmªÀ`m {Vgè¶m añVo `moOZoV, amï´>r` ‘hm‘mJmªMr bm§~r hr XoemÀ`m joÌ’$img ............ Zo ^mJyZ {Xbr OmVo.
1) 20 2) 25 3) 50 4) 75

2) A s per 3rd 20 Year Road Plan, the length of National Highways is given by area of country divided

by ...........

1) 20 2) 25 3) 50 4) 75

3) amoqbJ Q>oaoZ‘YyZ OmUmè¶m amï´>r` ‘hm‘mJmªgmR>r IRC Zo {e’$mag Ho$bobm éqbJ {S>PmB©Z doJ ........... Amho.
1) 120 {H$‘r Vmer 2) 40 {H$‘r Vmer 3) 20 {H$‘r Vmer 4) 80 {H$‘r Vmer

3) The ruling design speed recommended by IRC for National Highways passing through rolling

terrain is ...........

1) 120 kmph 2) 40 kmph 3) 20 kmph 4) 80 kmph

4) IRC Zwgma, J«m‘rU ^mJmV ‘moQ>agm`H$bgmR>r àdmgr H$ma ẁ{ZQ> Amho
1) 0.50 2) 0.75 3) 0.80 4) 1.00

4) As per IRC, the passenger car unit for a motorcycle in rural areas is

1) 0.50 2) 0.75 3) 0.80 4) 1.00
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5) ‘hmamï´>mVrc KmQ> d Ë¶m§Mo ñWmZ Agcoco ‘mJ© ¶m§À¶m ¶mo½¶ OmoS>çm cmdm.
       KmQ>           ‘mJ©
A) Am§~oZir I) nyUo - gmVmam
~) A§~mocr II) H$moëhmnya - Hw$S>mi
H$) I§~mQ>H$s III) ‘hm~ioída - ‘hmS>
S>) hZw‘§Vo IV) ~oiJm§dr - gmd§VdmS>r
n¶m©¶r CÎmao :

A ~ H$ S>
1) IV II III I

2) IV I II III

3) III IV I II

4) III II I IV

5) Match the correct pairs of Ghat and their location route in Maharashtra.

      Ghat           Route

A. Ambenali I) Pune — Satara

B. Amboli II) Kolhapur — Kudal

C. Khambataki III) Mahabaleshwar — Mahad

D. Hanumante IV) Belagavi — Sawantwadi

Answer Options :

A B C D

1) IV II III I

2) IV I II III

3) III IV I II

4) III II I IV

6) ‘hmamï´>mV ...... ¶m ‘hm‘mJm©Mr bm§~r gdm©V H$‘r Amho.
1) gmobmnya - {MÌXþJ© 2) ZmJnya - AãXþ„mJ§O
3) Ýhmdmeodm - niñno 4) AH$mobm - g§JmaoÈ>r

6) The length of this highway in Maharashtra is the shortest.

1) Solapur - Chitradurg 2) Nagpur - Abdullahganj

3) Nhavasheva - Palaspe 4) Akola - Sangareddy

7) nwT>rc {dYmZm§Mm {dMma H$am.
{dYmZ - I  :  ‘w§~B© - ZmJnya d ‘w§~B© - nwUo Xþhoar ~«m°S>JoOMo aoëdo‘mJ© AmhoV.
{dYmZ - II  :  ‘w§~B© - ZmJya d ‘w§~B© - nwUo ‘mJm©da {dOoda MmcUmè¶m AmJJmS>çm AmhoV.
n¶m©¶r CÎmao :
1) {dYmZ - I  d II  ~amo~a AmhoV 2) {dYmZ - I  d II  MwH$sMr AmhoV
3) {dYmZ - I ~amo~a na§Vw II  MyH$ AmhoV 4) {dYmZ - I  MyH$ na§Vw II  ~amo~a AmhoV

7) Consider the following statements.

Statement - I : Mumbai-Nagpur and Mumbai-Pune is a double broad gauge railway line.

Statement - II : There are electric trains running on the Mumbai-Nagpur and Mumbai-Pune route.

Answer Options :

1) Statement I and II are correct 2) Statement I and II are incorrect

3) I Statement is correct but II is false 4) I Statement is false but II is coorrect
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8) amo-amo dmhVwH$sMr gwédmV ^maVmV gd©àW‘ H$moUË¶m aoëdo‘mJm©da Pmbr?
1) CÎma-nyd© gr‘m§V aoëdo‘mJ© 2) X{jU aoëdo‘mJ©
3) H$moH$U aoëdo‘mJ© 4) nyd© aoëdo‘mJ©

8) The row-row transportation started firstly in India on which railway route ?

1) North Eastern border railway route 2) Southern railway route

3) Konkan railway route 4) Eastern railway route

9) ‘hm‘mJ© {Z`moOZmÀ`m Q>ßß`m§~Ôb Imbrb {dYmZo {dMmamV ¿`m:
a) n joÌmgmR>r añË`mÀ`m bm§~rÀ`m Amdí`H$VoMo ‘yë`m§H$Z.
b) n§Mdm{f©H$ `moOZm qH$dm dm{f©H$ `moOZoVrb Q>ßnm Xe©{dUmam ‘mñQ>a ßb°Z V`ma H$aUo.
darbn¡H$s H$moUVr {dYmZo ~amo~a/AmhoV?
1) ’$º$ (a) ~amo~a Amho. 2) ’$º$ (b) ~amo~a Amho.
3) (a) qH$dm (b) ~amo~a ZmhrV. 4) (a) Am{U (b)  XmoÝhr ~amo~a AmhoV.

9) Consider the following statements about phases of highway planning :

a) Assessment of requirement of road length for a n area.

b) Preparation of Master Plan showing the phasing in Five Year Plan or annual plan.

Which of the above statements is/are correct ?

1) Only (a) is correct. 2) Only (b) is correct.

3) Neither (a) nor (b) are correct. 4) Both (a) and (b) are correct.

10) nopìh§J J«oS> {~Qw>‘oZMr gwg§JVVm ............ Ûmao {ZYm©[aV Ho$br OmVo.
1) bd{MH$Vm MmMUr 2) pìhñH$mo{gQ>r MmMUr
3) gm°âQ>qZJ nm°B§Q> MmMUr 4) àdoe MmMUr

10) The consistency of paving grade bitumen is determined by .............

1) Ductility test 2) Viscosity test

3) Softening point test 4) Penetration test

11) ‘hmamï´> amÁ¶mVrb n{hbm n¶©Q>Z {Oëhm åhUyZ ...... ¶m {Oëømg ‘mZ {‘imbm Amho.
1) A‘amdVr 2) H$moëhmnya 3) qgYwXwJ© 4) nwUo

11) This district has got the honor of being the first tourism district of Maharashtra state.

1) Amravati 2) Kolhapur 3) Sindhudurg 4) Pune

12) 'W§S> hdoÀ¶m ñWimMr amUr' åhUyZ à{gÕ Ago ñWi H$moUVo Amho?
1) ‘hm~ioída 2) H$moS>mB©H°$Zmb
3) CQ>r/CQ>H$‘§S>b‘ 4) ‘mWoamZ

12) Which place is known as the Queen of Cold Air Places?

1) Mahabaleshwar 2) Kodaikanal

3) Ooty/Utkamandalam 4) Matheran
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For Private Circulation Only

13) ZmJnya-Jmodm ‘hmamï´> eº$snrR> ‘hm‘mJm©cm Imcrc eº$snrR>o OmoS>cr OmUma AmhoV.
A) ‘mhþa, VwiOmnya, H$moëhmnya, A§~oOmoJmB©
~) Am¢T>m ZmJZmW, H$moëhmnya, ‘mhþa
H$) V»V gMI§S> lrhþOya gm{h~ JwéÛmam, VwiOmnya, ‘mhþa, H$moëhmnya
S>) Zagmo~mMr dmS>r, Am¢T>m ZmJZmW, nair d¡OZmW
n¶m©¶r CÎmao :
1) ’$º$ S> ~amo~a 2) ’$º$ ~, H$ Am{U S> ~amo~a
3) ’$º$ A ~amo~a 4) ’$º$ H$ ~amo~a

13) The following Shaktipeeths are to be added to the Nagpur-Goa Maharashtra Shaktipeeth Highway.

A) Mahur, Tuljapur, Kolhapur, Ambejogai

B) Aundha Nagnath, Kolhapur, Mahur

C) Takht Sachkhand Srihujur Sahib Gurdwara, Tuljapur, Mahur, Kolhapur

D) Narsobachi Wadi, Aundha Nagnath, Parli Vaijnath

Answer options :

1) Only D is correct 2) Only B, C and D are correct

3) Only A is correct 4) Only C is correct

14) ¶mo½¶ OmoS>çm Owidm
amÁ¶           n¶©Q>Z ñWi

a) Oå‘y d H$mí‘ra i)  VaU VmaU, ~m~m ~H$mbm
b) {h‘mMb àXoe ii) A§~mbm, ^S>H$b gamoda
c) n§Om~ iii) Ad§Vrnya, AMbrJmoånm
d) h[a¶mUm iv) {ÌbmoH$ZmW, Z¡ZmXodr
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (iv) (i) (ii)

3) (iii) (iv) (ii) (i)

4) (iv) (iii) (i) (ii)

14) Match the following :

    State         Tourist Centre

a) Jammu and Kashmir i) Taran Taran, Baba Bakala

b) Himachal Pradesh ii) Ambala, Bhadkal lake

c) Punjab iii) Avantipur, Alachigonpa

d) Haryana iv) Triloknath, Nainadevi

Answer Options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (iv) (i) (ii)

3) (iii) (iv) (ii) (i)

4) (iv) (iii) (i) (ii)



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ŷJmob / 69
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15) ¶mo½¶ OmoS>çm bmdm.
    I{ZOo   ImU joÌ
a) ‘±JZrO i) gwaOmJS>
b) bmohI{ZO ii) OmZmobr
c) ~m°³gmB©Q> iii) {MIbm
d) H«$mo‘mB©Q> iv) CX{Jar
n¶m©¶r CÎmao …
1) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i) 2) (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)

3) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii) 4) (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)

15) Match the following :

Minerals Mining Area

a) Manganese i) Surjagad

b) Iron Ore ii) Janoli

c) Bauxite iii) Chikhala

d) Chromite iv) Udgiri

Answer options :

1) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i) 2) (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)

3) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii) 4) (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)

14) CÚmoJ
1) ^maVmVrb bmoh-nmobmX CÚmoJ d ñWmnZm df© ¶m§À¶m ¶mo½¶ OmoS>çm bmdm …

          bmoh-nmobmX CÚmoJ ñWmnZm df©
a) ~§Jmb Am¶Z© A°ÊS> ñQ>rb H§$nZr i) 1874
b) Q>mQ>m Am¶Z© A°ÊS> ñQ>rb H§$nZr ii) 1907
c) B§S>r¶Z Am¶Z© A°ÊS> ñQ>rb H§$nZr iii) 1919
d) åh¡gya Am¶Z© A°ÊS> ñQ>rb H§$nZr iv) 1923
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (ii) (i) (iv)

3) (ii) (iv) (iii) (i)

4) (i) (ii) (iii) (iv)

1) Match the correct pairs of Iron and Steel Industry and its establishment year in India :

      Iron and Steel Industry Establishment Year

a) Bengal Iron and Steel Industry i) 1874

b) Tata Iron and Steel Industry ii) 1907

c) Indian Iron and Steel Industry iii) 1919

d) Mysore Iron and Steel Industry iv) 1923

Answer options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (ii) (i) (iv)

3) (ii) (iv) (iii) (i)

4) (i) (ii) (iii) (iv)
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2) Imbrbn¡H$s H$moUVm H$m`Xm ã ẁamo Am°’$ EZOu B{’${e`Ýgr (BEE)  Mr ñWmnZm Am{U g‘mdoe H$aÊ`mMr VaVyX
H$aVmo?
1) D$Om© g§dY©Z H$m`Xm, 2001 2) D$Om© g§dY©Z H$m`Xm, 2002
3) D$Om© g§dY©Z H$m`Xm, 2010 4) D$Om© g§dY©Z H$m`Xm, 2011

2) Which of the following Acts provides for the establishment and incorporation of the Bureau of

Energy Efficiency (BEE) ?

1) Energy Conservation Act, 2001 2) Energy Conservation Act, 2002

3) Energy Conservation Act, 2010 4) Energy Conservation Act, 2011

3) Imcrcn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
a) Mw{Zcmc ‘ohVm ¶m§Zr ghH$mar VËdmda gmIa H$maImZm gwé H$aÊ¶mMm à¶ËZ Ho$cm.
b) S>m°. YZ§O¶ JmS>Jri ¶m§À¶m ‘mJ©Xe©ZmImcr ‘hmamï´>mV ghH$mar gmIa H$maImZXmarMm ew^ma§^ Pmcm.
c) 1905 Z§Va ‘w§~B© H$mnS> H$maImZXmar‘Ü¶o VoOr Amcr
n¶m©¶r CÎmao :
1) a Am{U b ~amo~a AmhoV 2)  a, b Am{U c ~amo~a AmhoV
3) a Am{U c ~amo~a AmhoV 4) ’$º$ c ~amo~a Amho.

3) Which of the following statements is / are correct ?

a) Chunilal Mehta tried to start a sugar industry on cooperative basis.

b) Cooperative sugar industry was started in Maharashtra under the guidance of Dr. Dhananjay

Gadgil.

c) After 1905, textile industry flourished in Mumbai.

Answer options :

1) a andb are correct 2) a, b and c are correct

3) a and c are correct 4) only cis correct

4) 31 {S>g|~a 2022 amoOr ^maVmVrb Ordmí‘ B§YZmnmgyZ EHy$U drO {Z{‘©Vr Amho:
1) 46,850 ‘oJmdmQ> 2) 1,67,750 ‘oJmdmQ>
3) 1,74,530 ‘oJmdmQ> 4) 2,35,809 ‘oJmdmQ>

4) Total electricity produce from fossil fuels in India, as on 31 December 2022 is :

1) 46,850 megawatts 2) 1,67,750 megawatts

3) 1,74,530 megawatts 4) 2,35,809 megawatts

5) Am{W©H$ df© 2021 ‘Ü ò ^maVmVrb CÚmoJm§Zr dmnaboë`m {dÚwV CO}Mr Q> o̧$dmar hmoVr :
1) 51% 2) 46% 3) 41% 4) 36%

5) The percentage of electrical power consumed by industries in India in the financial year 2021

was :

1) 51% 2) 46% 3) 41% 4) 36%
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6) Imbr ‘hmamï´> amÁ¶mVrb H$mhr Am¶.Q>r. nmH©$ d Ë¶m§Mo {R>H$mU {Xbo AgyZ Ë¶m§À¶m ¶mo½¶ OmoS>çm bmdm.
A) Am§Vaamï´>r¶ BÝ’$moQ>oH$ nmH©$ i) gm§Jbr eha
~) gm°âQ>doAa Q>o³Zmobm°Or nmH©$ ii) Zm{eH$
H$) BZ’$m°‘}oeZ Q>o³Zmobm°Or nmH©$ iii) ^mogar
S>) A§~S> Am¶.Q>r. nmH©$ iv) Zdr ‘w§~B©
n¶m©¶r CÎmao …

A ~ H$ S>
1) ii iii iv i

2) iv iii ii i

3) iv iii i ii

4) iv i iii ii

6) Below are some I.T. in Maharashtra state. Parks and their locations are given and match them

correctly.

a) International Infotech Park i) Sangli City

b) Software Technology Park ii) Nashik

c) Information Technology Park iii) Bhosari

d) Ambad I.T. Park iv) Navi Mumbai

Answer options :

A B C D

1) ii iii iv i

2) iv iii ii i

3) iv iii i ii

4) iv i iii ii

7) Imbrbn¡H$s H$moUVm JQ> 'Am¡pîUH$ D$Om©' àH$ënmer g§~§YrV Amho?
1) ŵgmdi, Zm{eH$, CaU 2) Q´>må~o, S>hmUy, OiJmd
3) Vmamnya, CaU, R>mUo 4) M§Ðnya, H$mH«$mnmam, ŵgmdi

7) Which of the following groups is associated with “Thermal Power’’ plant ?

1) Bhusawal, Nashik, Uran 2) Trombe, Dahanu, Jalgaon

3) Tarapur, Uran, Thane 4) Chandrapur, Kakrapara, Bhusawal

8) ‘hmamï´>mÀ¶m gmVmam {OëømVrc ""dZHw$gdS>o"" ho {R>H$mU ............. gmR>r à{gÕ Amho.
1) cmHy$S> H$Q>mB© 2) ~m°³gmB©Q> CËIUZ
 3) ndZ D$Om© {Z{‘©Vr 4) Oc{dÚwV CËnmXZ

8) "Vankusawade", a place in the Satara district of Maharashtra is famous for

1) Timber Cutting 2) Bauxite mining

3) Wind power generation 4) Hydroelectricity production

9) ¶mo½¶ OmoS>çm Owidm :
Am¡pîUH$ drO H|$Ð   {Oëhm
a) H$moamS>r i) am¶JS>
b) nmag ii) ZmJnya
c) CaU iii) OiJm§d
d) ’o$H$ar iv) AH$mobm
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (iii) (i)

4) (ii) (iv) (i) (iii)

9) Match the following :

Thermal Power Station District

a) Koradi i) Raigad

b) Paras ii) Nagpursibnl ci vit

c) Uran iii) Jalgaon

d) Fekari iv) Akola

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (iii) (i)

4) (ii) (iv) (i) (iii)

10) OmoS>çm Owidm.
    I{ZOo ‘w»¶ CÚmoJ
A) {g{cHo$Q> I) IVo
~) {Oßg‘ II) {g‘|Q> H$maImZm
H$) nmoQ>°e III) ßcmñQ>a dm°c~moS>©
S>) cmB©‘ ñQ>moZ IV) H$mM H$maImZm
n¶m©¶r CÎmao :

A ~ H$ S>
1) IV III I II

2) IV II I III

3) III II IV I

4) IV I II III

10) Match the following.

Minerals Major uses

a) Silicate I) Fertilizers

b) Gypsum II) Cement industry

c) Potash III) Plaster wallboard

d) Lime stone IV) Glass industry

Answer Options :

(a) (b) (c) (d)

1) IV III I II

2) IV II I III

3) III II IV I

4) IV I II III
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11) 31 {S>g|~a 2022 À¶m ‘m{hVrZwgma, 2022-23 À¶m ‘hmamḯ>mÀ¶m Am{W©H$ gd}jUmZwgma, ‘hmamḯ> amÁ¶mV, Imbrbn¡H$s
H$moUË¶m joÌmMm drO {Z{‘©VrV gdm©{YH$ dmQ>m Amho?
1) Z¡g{J©H$ dm¶y 2) ^aVr-AmohmoQ>r 3) Ob 4) Am¡pîUH$

11) In the state of Maharashtra, which of the following sectors has the highest share in electricity

generation, according to the Economic Survey of Maharashtra 2022-23, as of 31 December

2022?

1) Natural gas 2) Tidal 3) Hydro 4) Thermal

12) nma§nm[aH$ Ob{dÚwV H|$Ðm§gmR>r Imbrbn¡H$s H$moUVr {dYmZo MwH$sMr AmhoV?
1) YaUmgh EH$ bmQ> H$j V`ma Ho$bm OmVmo
2) noZñQ>m°Šg YaUmVrb nmUr hm`S´m°{bH$ Q>~m©BZH$S>o nmohmoMdVmV.
3) EH$ S>mCZñQ´r‘ ~o{gZ dmnabm OmVmo.
4) gd© AnñQ´r‘ ~o{gZ n§qnJ ñQ>oeZÛmao dmnabo OmVo.

12) Which of the following statements in INCORRECT for conventional hydropower stations ?

1) A surge chamber is created with a dam

2) Penstocks convey the water from the dam towards hydraulic turbines.

3) A downstream basin is used.

4) All upstream basin is used through a pumping station.

13) ñQ>r‘ nm°da ßbm§Q>gmR>r OmJm {ZdS>m`Mr Agë`mg Imbrbn¡H$s H$moUVr AQ>r MwH$sMr Amho?
1) B§YZ ñQ>oeZ ßbm§Q> Odi Agmdo
2) B§YZ ñQ>oeZ ZXrH$mR>À`m Odi pñWV AgUo Amdûm`H$ Amho
3) B§YZ H|$Ð bmoH$dñVrÀ`m joÌmOdi AgUo Amdí`H$ Amho.
4) amon bmoS> H|$ÐmOdi R>odmdo.

13) Which of the following conditions is INCORRECT when a site is to be selected for a steam

power plant ?

1) The fuel station should be near the plant

2) The fuel station must be positioned near a riverbank

3) The fuel station must be located near populated areas.

4) The plant should be placed near load centres.

14) ñQ>r‘ nm°da ñQ>oeZMm Imbrbn¡H$s H$moUVm ’$m`Xm Amho?
1) ñQ>r‘ nm°da ßbm§Q>Mo Am ẁî` Am{U n[aUm‘H$maH$Vm g§{já Amho.
2) drO {Z{‘©VrMm IM© OmñV Amho
3) H$‘r àma§{^H$ Jw§VdUyH$ Am{U ßbm§Q> Mmby H$aÊ`mgmR>r H$‘r doi bmJVmo.
4) H$moigm hiyhiy dmnaë`m‘wio g§nwï>mV òD$ eH$Vmo.

14) Which of the following is an advantages of a steam power station ?

1) Life and effectiveness of a steam power plant are concise.

2) Cost of power generation is high

3) It takes low initial investment and less time to commission a plant.

4) Coal may get depleted due to gradual use.
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For Private Circulation Only

15) ßbm§Q>À`m Am°naoeZ Xaå`mZ pñWa Agboë`m CËnmXZm~m~V Imbrbn¡H$s H$moUVr AdñWm `mo½` Amho?
1) {Z`‘m{edm` AmYma ŷV nwadR>m 2) {Z`‘Zgh AmYma ŷV nwadR>m
3) ñd §̀M{bV J¡a-Am{W©H$ {Z`‘Z 4) ñd §̀M{bV Am{W©H$ {Z`‘Z

15) Which of the following states is correct regarding the output that is constant during the operation

of a plant ?

1) Base supply without regulation 2) Base supply with regulation

3) Automatic non-economic regulation 4) Automatic economic regulation

16) CÚmoJmÀ¶m ñWmZ {ZpíMVr H$aVmZm Amë’«o$S> do~a ¶m§Zr Imcrcn¡H$s H$moUË¶m KQ>H$mMo ‘hËd Amnë¶m {gÕm§VmV {gÕ
H$aÊ¶mMm à¶ËZ Ho$cm Amho M
1) CÚmoJmÀ¶m ñWmZ {ZpíMVrH$aUmV ‘Owam§darc ‘yë¶m Mo ¶moJXmZ ‘hÎdmMo AgVo.
2) CÚmoJmÀ¶m ñWmZ {ZpíMVrH$aUmV H$ÀÀ¶m ‘mcmdarc IMm©Mo ¶moJXmZ ‘hÎdmMo AgVo.
3) CÚmoJmÀ¶m ñWmZ {ZpíMVrH$aUmV ~mOmanoR>oMr gwJ‘Vm ‘hÎdmMr AgVo.
4) CÚmoJmÀ¶m ñWmZ {ZpíMVrH$aUmV dmhVyH$ IMm©Mo ¶moJXmZ ‘hÎdmMo AgVo.

16) In his theory of industrial location Alfred Weber tried to establish the pivotal role of which of the

following factors ?

1) Labour cost plays a pivotal role in the selection of industrial location

2) Cost of raw material plays a pivotal role in the selection of industrial location

3) Market accessibility plays a pivotal role in the selection of industrial location

4) Transport cost plays a pivotal role in the selection of industrial location

17) H$mJX CÚmoJ ¶mà‘mUo dJuH¥$V Ho$bm OmVmo …
a) H$mJX Am{U H$mJX ~moS>© (’$bH$) b) n|T>m ’$bH$ Am{U BVa ’$bH$
c) dV©‘mZ nÌ d) gwajm H$mJX
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (c) Am{U (d) 3) (a), (b) Am{U (d) 4) darb gd©

17) The Paper Industry is divided into the following categories :

a) Paper and paper board b) Straw board and other board

c) News print d) Security paper

Which of the statements given above are correct ?

1) (a)and (b) 2) (c) and (d) 3) (a), (b) and (d) 4) All of the above

15) amOH$s` ŷJmob - bmoH$g§»`m, ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m

amOH$s` ŷJmob -ñWmZo Am{U gr‘m

1) ‘hmamï´>mVrc {H$Vr {Oëøm§À¶m gr‘m H$Zm©Q>H$ amÁ¶mcm {^S>coë¶m AmhoV ?
1) 05 2) 07 3) 06 4) 08

1) How many districts of Maharashtra share their boundaries with Karnataka State?

1) 05 2) 07 3) 06 4) 08
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2) ‘hmamï´>mVrb {H$Vr {Oëøm§À¶m gr‘m eoOmarb ‘Ü¶ àXoe amÁ¶mbm {^S>boë¶m AmhoV?
1) 10 2) 06 3) 08 4) 04

2) How many districts of Maharashtra have borders with the neighboring state of Madhya Pradesh?

1) 10 2) 06 3) 08 4) 04

3) Imcrcn¡H$s H$moUË¶m {OëømMr {g‘m hr qhJmocr {OëømÀ¶m {g‘ocm cmJyZ Zmhr ?
1) dm{e‘ 2) AH$mocm 3) ¶dV‘mi 4) na^Ur

3) The boundary of which of the following districts is not adjacent to the boundary of Hingoli district?

1) Washim 2) Akola 3) Yavatmal 4) Parbhani

4) joÌ’$imÀ¶m AmYmao ‘hmamï´>mVrc àemgH$s¶ {d^mJm§Mo CVaË¶m H«$‘mZwgma ¶mo½¶ n¶m©¶ {ZdS>m.
a) H$moH$U {d^mJ b) nwUo {d^mJ c) Zm{eH$ {d^mJ
d) Am¡a§Jm~mX {d^mJ e) A‘amdVr {d^mJ f) ZmJnya {d^mJ
n¶m©¶r CÎmao :
1) (b),(f),(a),(e),(c),(d)) 2) (d),(c),(b),(f),(e),(a)

3) (c),(b),(f),(d),(e),(a) 4) (d),(b),(f),(c),(a),(e)

4) Select the correct option in descending order of administrative divisions of Maharashtra on the

basis of area.

a) Konkan Division b) Pune Division c) Nashik Division

d) Aurangabad Division e) Amravati Division f) Nagpur Division

Answer options :

1) (b),(f),(a),(e),(c),(d)) 2) (d),(c),(b),(f),(e),(a)

3) (c),(b),(f),(d),(e),(a) 4) (d),(b),(f),(c),(a),(e)

5) OmoS>çm Owidm.
    {Oëho ñWmnZm df©
a) nmbKa i) 2014
b) Jm|{X`m ii) 1998
c) Z§Xþa~ma iii) 1999
d) JS>{Mamobr iv) 1982
n¶m©¶r CÎmao …
1) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i) 2) (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)

3) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i) 4) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

5) Match the following.

District Establishment Year

a) Palghar i) 2014

b)  Gondiya ii) 1998

c) Nandurbar iii) 1999

d) Gadchiroli iv) 1982

Answer options :

1) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i) 2) (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)

3) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i) 4) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
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6) ^maVmÀ¶m ñWmZm{df¶r Imbrb {dYmZm§Mm {dMma H$am.
a) nyd© Am{U npíM‘ Am{e¶mÀ¶m Xaå¶mZ ^maVmbm ‘Ü¶dVu ñWmZ bm^bo Amho.
b) ^maVmMm OJmer Agboë¶m gmJar g§nH$m©Mm B{Vhmg hm ŷ̂ mJmdarb ghg§~§Ymnojm OwZm Amho.
c) qhXr ‘hmgmJamda ^maVmBVH$m bm§~ g‘wÐ {H$Zmam BVa H$moUË¶mhr Xoembm bm^bm Zmhr.
d) ^maVmÀ¶m CÎma-nyd© {Xeobm nm{H$ñVmZ Am{U A’$Jm{UñVmZ ¶m Xoem§À¶m ŷgr‘m AmhoV.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
1) ’$º$ (a) Am{U (d) 2) ’$º$ (a) Am{U (c)$ 3) (a), (b) Am{U (c) 4) (a), (b) Am{U (d)

6) Consider the following statements about the location of India.

a) India has the central location between the east and west Asia.

b) India’s maritime contacts with the world have a longer history than its land based relationship.

c) No other country has a long coastline on the Indian Ocean as India has.

d) India shares its land with Pakistan and Afghanistan in the north-east.

Which of the above statements are correct ?

1) (a) and (d) only 2) (a) and (c) only 3) (a), (b) and (c) 4) (a), (b) and (d)

7) ^maVmÀ¶m àmH¥${VH$ ZH$memV ‘hmamï´> nR>ma Imcrcn¡H$s H$moUË¶m a§JmZo Xe©{dco Amho ?
1) JS>X {hadm 2) {hadm  3) {ndim 4)  Vn{H$ar

7) In the physical map of India, Maharashtra plateau is shown by which of the following colours ?

1) Dark green 2) Green 3) Yellow 4) Brown

8) ŷOb àdmh ZH$memgmR>r dmnabobr Xwgar g§km Amho:
1) Am¶gmo-H$ZQy>a ZH$mem 2) Am¶gmon°M ZH$mem
3) âbm`S´m°{bH$ ZH$mem 4) nmoQ>|{Q>Amo‘o{Q´H$ ZH$mem

8) The other term used for groundwater flow map is :

1) Iso-contour map 2) Isopach map

3) Flydraulic map 4) Potentiometric map

9) Imbrbn¡H$s H$moUVm ZH$mem ̂ yJ^m©Vrb nmÊ`mÀ`m à‘mUmdarb ‘m{hVrMo {dh§JmdbmoH$Z XoVmo Oo EImÚm joÌmV emofUmgmR>r
g§̂ mì`nUo CnbãY Amho?
1) hm`S´mo Am`gmo~mW ZH$meo 2) ŷOb g‘Vwë` ’$aH$ ZH$mem
3) n[aUm‘ ZH$mem 4) ŷOb g§̂ mì` ZH$mem

9) Which of the following maps provides an overview of information on the groundwater volume

that is potentially available for exploitation in an area ?

1) Hydro isobath Maps 2) Groundwater Equipotential Difference Map

3) Consequence Map 4) Groundwater Prospect Map
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bmoH$g§»`m

1) ¶mo½¶ OmoS>çm Owidm
        amÁ¶ bmoH$g§»¶m KZVm Xa Mm¡. {H$. ‘r. (2011)
a) h[a¶mUm i) 123
b) {h‘mMb àXoe ii) 141
c) PmaI§S> iii) 573
d) {~hma iv) 1106
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) ii i iii iv

2) iii i ii iv

3) iii ii iv i

4) i iii ii iv

1) Match the following :

State Population Density per sq. k.m. (2011)

a) Haryana i) 123

b) Himachal Pradesh ii) 414

c) Jharkhand iii) 573

d) Bihar iv) 1106

Answer Options :

(a) (b) (c) (d)

1) ii i iii iv

2) iii i ii iv

3) iii ii iv i

4) i iii ii iv

2) ^maVmMo a{OñQ´ma OZab (SRS) À`m Z‘wZm Zm|XUr àUmbr (RGI) ~wbo{Q>ZZwgma, 2019 ‘Ü ò ^maVmV à{V 1,000
{Od§V OÝ‘m§‘mJo ~mb‘¥Ë ỳ Xa (IMR) {H$Vr hmoVm?
1) 81 2) 37 3) 35 4) 30

2) As per the Sample Registration System (SRS) Bulletin of Registrar General of India (RGI), what

was the Infant Mortality Rate (IMR) in India per 1,000 live births in the year 2019 ?

1) 81 2) 37 3) 35 4) 30

3) 2011 À¶m OZJUZoZwgma, ^maVr¶ amÁ¶m§Mm bmoH$g§»¶m eoH$S>m à‘mUmZwgma H$moUVm MT>Vm H«$‘ ¶mo½¶ Amho?
1) n§Om~ - Amgm‘ - N>ÎmrgJT> - h[a¶mUm 2) n§Om~ - N>ÎmrgJT> - Amgm‘ - h[a¶mUm
3) N>ÎmrgJT> - h[a¶mUm - n§Om~ - Amgm‘ 4) h[a¶mUm - N>ÎmrgJT> - n§Om~ - Amgm‘

3) As per 2011 Census, which ascending order of states as per percentage population in India is

correct?

1) Punjab — Assam — Chhattisgarh — Haryana

2) Punjab — Chhattisgarh — Assam — Haryana

3) Chhattisgarh — Haryana — Punjab — Assam

4) Haryana — Chhattisgarh — Punjab — Assam
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4) OZJUZm 2011 à‘mUo Imcrc Z‘yX ‘hmamï´>mVrc {Oëøm§Mm Ë¶m§À¶m cmoH$g§»¶m KZVog§X^m©V MT>Vm H«$‘ cmdm.
A) dYm© ~) JS>{Mamocr H$) dm{e‘
S>) M§Ðnya B) qgYwXþJ©
n¶m©¶r CÎmao …
1) B, ~, S>, H$, A 2) B, S>, ~, A, H$ 3) ~, B, S>, A, H$ 4) B, S>, A, H$, ~

4) As per census 2011, arrange the following districts of Maharashtra in ascending  order regarding

population density.

a) Wardha b) Gadhchiroli c) Washim

d) Chandrapur e) Sindhudurg

Answer options :

1) e, b, d, c, a 2) e, d, b, a, c 3) b, e, d, a, c 4) e, d, a, c, b

5) 2011 À¶m OZJUZoZwgma ‘hmamï´>mVrc Imcrc {OëømÀ¶m cmoH$g§»¶oÀ¶m KZVoZwgma MT>Vr d H«$‘dmar cmdmdr d ¶mo½¶
n¶m©¶ {ZdS>m.
1) Z§Xþa~ma-~rS>-OmcZm-Cñ‘mZm~mX 2) Z§Xþa~ma-OmcZm-~rS>-Cñ‘mZm~mX
3) Cñ‘mZm~mX-OmcZm-~rS>-Z§Xþa~ma 4) Cñ‘mZm~mX-~rS>-OmcZm-Z§Xþa~ma

5) As per 2011 census in Maharashtra arrange the following districts in ascending order as per

density of population and choose the correct option.

1) Nandurbar - Beed - Jalana - Usmanabad 2) Nandurbar - Jalana - Beed - Usmanabad

3) Usmanabad - Jalana - Beed - Nandurbar 4) Usmanabad - Beed - Jalana - Nandurbar

6) Imcrcn¡H$s H$moUVo {dYmZ ~amo~a Zmhr ?
1) M§Ðnya {OëømMr cmoH$g§»¶m KZVm (OZJUZm 2011) dYm© {Oëhm nojm OmñV Amho.
2) OZJUZm 2011 à‘mUo ~wcT>mUm {OëømMr cmoH$g§»¶m 25 H$moQ>r nojm OmñV hmoVr.
3) ‘mUJ§Jm ZXr gmVmam {OëømVyZ dmhVo.
4) H$i‘Zwar ho qhJmocr {OëømVrc VmcwH$m {R>H$mU Amho

6) Which of the following statement is incorrect?

1) Chandrapur district has more population density (2011 cebsys) than Wardha district.

2) As per census 2011, population of Buldhana district was more than 25 crore

3) Manganga river flows in Satara district

4) Kalmnuri is a tahsil place of Hingoli district

7) 2011 À¶m OZJUZoZwgma ‘hmamï´> amÁ¶mVrb ...... {d^mJmV AZwgy{MV O‘mVrMr bmoH$g§»¶m gdm©V OmñV Amho.
1) A‘amdVr 2) ZmJnya 3) Am¡a§Jm~mX 4) Zm{eH$

7) According to the 2011 census, the population of Scheduled Tribes is highest in the state of

Maharashtra.

1) Amravati 2) Nagpur 3) Aurangabad 4) Nashik

8) ^maVr¶ OZJUZm 2011 à‘mUo Imbrb {Oëøm§Mm Ë¶m§À¶m EHy$U bmoH$g§»¶oà‘mUo CVaVm H«$‘ bmdm.
A) AH$mobm ~) M§Ðnya H$) ~rS>
S>) bmVya B) gmVmam
n¶m©¶r CÎmao …
1) A, ~, H$, B, S> 2) H$, B, ~, S>, A 3) B, H$, S>, ~, A 4) ~, B, S>, A, H$
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8) Arrange the following districts in descending order in terms of their total population as per Census

of India 2011.

a) Akola b) Chandrapur c) Beed

d) Latur e) Satara

Answer Options :

1) a, b, c, e, 2) c, e, b, d, a 3) e, c, d, b, a 4) b, e, d, a, c

9) amï´>r¶ H$m¡Qw>§{~H$ Amamo½¶ gd}jUmZwgma, Imbrbn¡H$s H$moUË¶m amÁ¶mMo OÝ‘mdoiMo qbJ JwUmoÎma gdm©{YH$ Amho?
1) {Ìnwam 2) Ho$ai 3) H$Zm©Q>H$ 4) ‘oKmb¶

9) According to National Family Health Survey, which of the following states has the highest sex

ratio at birth?

1) Tripura 2) Kerala 3) Karnataka 4) Meghalaya

10) Imcrc {dYmZo {dMmamV ¿¶m :
a) 2011 Mr OZJUZm hr 15 dr amï´>r¶ OZJUZm hmoVr.
b) ¶m OZJUZoV OmVrda AmYm[aV OZJUZog gaH$maZo nadmZJr {Xcr.
n¶m©¶r CÎmao :
1) ’$º$ {dYmZ (a)  ~amo~a Amho 2) ’$º$ {dYmZ (b)   ~amo~a Amhoo
3) (a) Am{U (b) XmoÝhrhr {dYmZo ~amo~a AmhoV. 4) (a) Am{U (b) XmoÝhrhr {dYmZo MyH$ AmhoV.

10) Consider the following statements :

a) The census of 2011 was 15 national census.

b) In this census government approved the caste based census.

Answer options:

1) Only statement (a) is correct. 2) Only statement (b) is correct.

3) Both statements (a) and (b) are correct. 4) Both statements (a) and (b) are incorrect.

11) {dYmZ (I) : ""cmoH$g§»¶oÀ¶m n{hë¶m Q>ßß¶mda OZZXa Am{U ‘¥Ë¶¥Xa ho XmoÝhrhr OmñV AgVmV Ë¶m‘wio H$‘r  A{YH$
à‘mUmV cmoH$g§»¶m Odinmg pñWa AgVo.""
{dYmZ (II) : ""cmoH$g§»¶m g§H«$‘UmÀ¶m {Vgè¶m Q>ßß¶mda OZZXa KQV OmVmo Ë¶m‘wio cmoH$g§»¶m dmT>rMm Xa hm H$‘r
AgVmo.""
n¶m©¶r CÎmao :
1) {dYmZ (I) ho A¶mo½¶ Amho 2) {dYmZ (II) ho A¶mo½¶ Amho
3) {dYmZ (I) d (II) ho XmoÝhr A¶mo½¶ AmhoV 4) {dYmZ (I) d (II) ho XmoÝhr ¶mo½¶ AmhoV

11) Statement (I) : “In the first stage, both birth and death rates are high, hence the population remains

more or less stable.”

Statement (II) : “In the third stage of demographic transition the birth rate decline significantly

and thus the rate of population growth remain low.”

Answer options :

1) Statement (I) is incorrect. 2) Statement (II) is incorrect.

3) Both statements (I) and (II) are incorrect. 4) Both statements (I) and (IT) are correct.
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12) ^maVmVrb qbJJwUmoÎma Imbrbn¡H$s EH$m nÕVrZo H$mT>bo OmVo …
1) hOma nwéfm§À¶m VwbZoV {ó¶m§Mo à‘mU 2) hOma {ó¶m§À¶m VwbZoV nwéfm§Mo à‘mU
3) 100 nwéfm§À¶m VwbZoV {ó¶m§Mo à‘mU 4) 100 {ó¶m§À¶m VwbZoV nwéfm§Mo à‘mU

12) Sex Ratio in India is depicted from the following one method :

1) Ratio of female population per thousand male population

2) Rtio of male population per thousand female population

3) Ratio of female population per 100 male population

4) Ratio of male population per 100 female population

13) OZJUZo~m~V Imbrb {dYmZo {dMmamV ¿`m. Ë`mn¡H$s H$moUVo/`mo½` AmhoV?
a) àm‘w»`mZo bmoH$g§»`memór` ‘m{hVr àXmZ H$am
b) bmoH$m§À`m gm‘m{OH$ Am{U Am{W©H$ d¡{eï²>`m§~Ôb H$moUVrhr ‘m{hVr XoD$ ZH$m.
c) Am¡fY, ‘mZdr n`m©daU Am{U gm‘m{OH$ {dkmZ joÌmVrb H¥$Vr Am{U g§emoYZmÀ`m {Z`moOZmgmR>r AmYmaaoIm àXmZ

H$am.
d) OZJUZoÀ`m S>oQ>m{edm`, à‘mU~Õ Amamo½`, bmoH$g§»`memór` Am{U gm‘m{OH$-Am{W©H$ {ZX}eH$ àmá H$aUo eŠ`

Zmhr.
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U c ’$º$ 3) a, b Am{U d ’$º$ 4) a, c Am{U d ’$º$

13) Consider the following statements regarding census. Which of them is/are correct ?

a) Primarily provide demographic information

b) Provide no information on social and economic characteristics of people.

c) Provide baseline for planning action and research in the field of medicine, human ecology and

social science.

d) Without census data, it is not possible to obtain quantified health, demographic and socio-

economic indicators.

Answer options :

1) a only 2) a and c only 3) a, b and d only 4) a, c and d only

14) ‘¥Ë ỳÀ`m AmH$S>odmarÀ`m g§X^m©V Imbrb {dYmZo {dMmamV ¿`m. Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV/AmhoV?
a) S>oQ>m Jmoim H$aÊ`mMr EH$g‘mZ Am{U à‘m{UV nÕV Amho.
b) AMyH$VoMm A^md Amho.
c) ho EHy$U ‘¥Ë ẁXamVrb Q|́S> Am{U ’$aH$ ñnï> H$aVo.
d) ‘¥Ë ỳMr AnyU© ‘m{hVr Amho.
n¶m©¶r CÎmao …
1) ’$º$ a 2) a, b Am{U c ’$º$ 3) b Am{U d ’$º$ 4) b, c Am{U d ’$º$

14) Consider the following statements in regards to mortality data. Which of the following statements

is/are true ?

a) There is uniform and standardised method of collection of data.

b) There is lack of accuracy.

c) It explains trends and differentials in overall mortality.

d) There is incomplete reporting of deaths.

Answer Options :

1) a only 2) a, b and c only 3) b and d only 4) b, c and d only
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15) EHy$U àOZZ Xa åhUOo H$m`?
1) órbm OÝ‘boë`m ‘wbtMr gamgar g§»`m
2) Hw$Qw>§~ {Z`moOZ `emMo g§doXZerb gyMH$
3) àOZZj‘ d`moJQ>mVrb à{V hOma {ddm{hV ‘{hbm§À`m {Od§V OÝ‘m§Mr g§»`m
4) nyU© Hw$Qw>§~ AmH$ma

15) What is total fertility rate ?

1) Average number of girls born to a woman

2) Sensitive indicator of family planning achievement

3) Number of live births per thousand married women in reproductive age group

4) completed family size

16) ‘hmamï´>mVrb Imbrb {Xboë¶m {Oëøm§n¡H$s 2011 À¶m OZJUZoZwgma gdm©V OmñV bmoH$g§»¶m KZVm H$moUË¶m
{OëømMr Amho?
1) Jm|{X¶m 2) dm{e‘ 3) qhJmobr 4) A‘amdVr

16) Which of the following district of Maharashtra has the highest population density as per 2011

census ?

1) Gondiya 2) Washim 3) Hingoli 4) Amravati

^mfm

1) Oogoar hr ^mfm Imcrcn¡H$s H$moUË¶m H|$Ðem{gV àXoem‘Ü¶o ~moccr OmVo ?
1) nwÔþMoar 2) A§X‘mZ-{ZH$mo~ma
3) cj{Ûn 4) XmXa Am{U ZJa hdocr

1) Jeseri is spoken in which of the following union territories?

1) Puducherry 2) Andaman-Nicobar

3) Lakshadweep 4) Dadar and Nagar Haveli

2) ‘amR>r ^mfm {dÚmnrR>mMr ñWmnZm Imcrc {R>H$mUr H$aÊ¶mV ¶oUma Amho ?
1) ‘oiKmQ> {O. A‘amdVr 2) am‘Q>oH$ {O. ZmJnya
3) n¡R>U {O. Am¡a§Jm~mX 4) [aÕnya {O. A‘amdVr

2) Marathi Language University will be established at the following place?

1) Melghat Distt. Amravati 2) Ramtek Distt. Nagpur

3) Paithan Dist. Aurangabad 4) Riddhapur Distt. Amravati

O‘mVr Am{U d§e

1) '‘hmXod H$moir' hr Am{Xdmgr O‘mV àm‘w»¶mZo ‘hmamï´>mVrb H$moUË¶m {Oëøm§V AmT>iVo?
¶mo½¶ JQ> AmoiIm.
1) am¶JS>, aËZm{Jar, gmVmam 2) Ywio, Z§Xwa~ma, OiJmd
3) A‘amdVr, ZmJnya, M§Ðnya 4) R>mUo, Zm{eH$, nwUo

1) The tribal tribe 'Mahadev Koli' is mainly found in which district of Maharashtra?

Identify the correct group.

1) Raigad, Ratnagiri, Satar 2) Dhule, Nandurbar, Jalgaon

3) Amravati, Nagpur, Chandrapur 4) Thane, Nashik, Pune
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2) ^maVmÀ`m B©emÝ òH$S>rb amÁ`m§‘Ü ò amhUmè`m ‘§Jmobm°BS> O‘mVr, ZmJm-Hw$H$s `m gamd H$ê$Z Amnbm CXa{Zdm©h
H$aVmV:
1) ñWbm§V[aV bmJdS> 2) H$m`‘Mr bmJdS>
3) Xw½Yì`dgm` 4) darbn¡H$s H$mhrhr Zmhr

2) The Mongoloid tribes living in the Northeastern States of India, namely Naga-Kuki make their

living by practicing :

1) Shifting cultivation 2) Permanent cultivation

3) Dairy 4) None of the above

CÎmao

(3) ‘hmamḯ>mmMm ŷJmoc

10) ‘hmamḯ>mVrb O{‘ZrMo àH$ma

1-1 2-3 3-1 4-1 5-3 6-3 7-2 8-2

11) à‘wI {nHo$ - eoVr

1-1 2-x 3-2 4-3 5-1 6-2 7-2 8-3 9-1 10-1
11-1 12-3 13-4 14-3 15-2 16-4 17-2 18-1 19-4 20-4
21-4 22-1

12) ehao  Am{U ZmJarH$aU, dñVr ŷJmob

1-1 2-3 3-4 4-2 5-2 6-2 7-4 8-4 9-4 10-3
11-x

13) Am{W©H$ ̂ yJmob - I{ZOo Am{U D$Om© g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z

I{ZOo Am{U D$Om© g§gmYZo

1-1 2-x 3-1 4-2 5-3 6-2 7-1 8-3 9-4 10-3

dmhVyH$ Am{U n ©̀Q>Z

1-2 2-3 3-4 4-1 5-3 6-3 7-x 8-3 9-4 10-4
11-3 12-3 13-3 14-2 15-3
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14) CÚmoJ

1-4 2-1 3-2 4-4 5-3 6-3 7-1 8-3 9-4 10-x

11-4 12-4 13-3 14-3 15-1 16-4 17-4

15) amOH$s` ̂ yJmob - bmoH$g§»`m, ̂ mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m

amOH$s` ̂ yJmob -ñWmZo Am{U gr‘m

1-x 2-3 3-2 4-2 5-2 6-2 7-3 8-4 9-4

bmoH$g§»`m

1-2 2-4 3-4 4-3 5-x 6-x 7-4 8-3 9-1 10-3
11-4 12-1 13-4 14-4 15-4 16-1

^mfm

1-3 2-4

O‘mVr Am{U d§e

1-4 2-1


